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1. Write the following ratios in the simplest form:

(0) 40 emto 3 m (b) 20 minutes to 1 hour
(¢) 10 cm to 8 mm (d) 65 paise 1o T 65.
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2. Divide ¥ 405 between Sameer and Madhu in the mtio 1 : 2.
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3. Check whether 3, 12, 36, 72 are in proportion or not.
-'—i i .‘_".|: ._"_'- r.r ll_l_ I.'hI:.‘---n.
4. Find x in the following proportions :
(@) 4:x:8:16 (b) x:15::12:18
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5. If 6, 18, 54 are in
. 18, conti
48 ntinued proportion, then find the Mean proportion between 6
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6. ?mnn Iﬂuwa ¥ 8250 in 1 year, If he saves equal amount every month, find his saving in
maonths.
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2 30,000. His wife gets a salary of

|, Jatin gets a salary of T 40,000 a month and spends . h §
2 35,000 and spends ¥ 15,000 a month. Find the ratio of : (i) Jatin's salary : Wife's salary
(iiy Jatin's savings : Wife's savings (ii}) Total salary : Total Expenditure.
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4. A school has a 101al
of girls 1o boys,
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strength of 2,450 students and 980 of these are boys. Find the ratio
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5. Monu walks 12 km in 4 hours and
speeds.
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7. The ratio of sale of sweaters ona
were sold in total on those 2 day

particular day to the next day is 3 : 4. [f 560 sweaters
s, how many were sold on each day?

8. The profits of a company are shared among three partners A, B and C in the ratio

2:2:3,

If A gets ¥ 14,000 as his share, find the total profit of the company and the shares of B

and C.
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U, The collections of tickets for three different shows (1st show, 2nd show, 3rd show) of
circus on a particular day are in the ratio 2 : 4 : 5. If the 2nd show collection is T 15,000,
find the total collection and collection of the remaining two shows.
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1. Compare the following ratios :
(i)2:30rd4:7 (iiv 11 :150r 14 : 25
{iii} ]5;I?ﬂr2:'} 1iv) H]E:ﬁ]'ﬂr Il::l
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1. Divide T 360 in the ratio 7 - &.
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1Y, Divide ¥ 560 in the ratio 1 : 3 : 4.
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I4. The sides of a triangle are in the ratio 4 : 5 : 2. Find the sides of the triangle, if its
perimeter is 660 cm.
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15, The boys and the girls in a school are in the ratio 6 : 5. If total strength of the school
be 880, find the number of boys and girls.
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is 11.7kg, find the weight of the zinc in the alloy.
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I8. Find the ratio of consonants 1o vowels in MATHEMATICS SUCCESS.
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I. Are the following numbers in proportion?
(i) 3,98, 24 (ii) 5,18, 7 21 (iiiy 14, 6, 5, 9
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(iv) 32, 26, 15, 25
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2. Find the value of x :
(16:9=x:6 i) x:15=6:45 (i) 2:7=2B:x (iv) 32:x=36:18
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3. Find the fourth proportional to : |
(1119, 38, 11 (1) 63, 105, 18 (iii) 36, 92, 45 (iv) 25, 15, 65
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4. The second, third and fourth terms of a proportion are 35, 48 and 60. Find the first term.
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5, The first, second and fourth terms of a proportion are 32, 112 and 217 respectively. Find
the third term.
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6. (i) Show that 16, 84, 441 are in proportion.
{ii) Find x, if 25, x, x, 49 are in proportion.
(iii) Find x, lfx.ﬁl?minmm
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8. Find the third proportional to 1 km, 250 m and 500 g. [Hos]
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9. Find the mean proportion between 21 and 84,
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0. The lengths of 2 pillars are in the ratio 4 : 5. If the length of the longer pillar is 270 m,
find the length of the other pillar. What is the difference in their heights?
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Thcmnnnfteacupsmidmmﬂ‘mcupﬂsnldmashnp:sd 3. If 420 tea cups are sold
in a day, how many coffee cups were sold?
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|2. The length and breadth of a rectangle are in the ratio 4 :
if the Icng!h is 64 m.
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|. Find the area of the rectangle,
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I.3. The ratio of brass and copper in an alloy is 3 : 5. If the weight of copper is 3.2 kg, find
the weight of brass in the alloy.
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number of two wheelers in the city.
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1. Find his yearly income, if he is able
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I5. The ratio of income to savings of Rajeev is 9 :
to save T2600 per month.
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16, In & school canteen, samosas and burgers are sold in the ratio 5 : 4. If 45 samosas are
sold on a particular day, how many burgers were sold?
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I. Express the following per cents as fractions :
i) 14% (i) 0,02% (i) 14.8% (v) 3—% (v) 12.5% (vi) 0.25%
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2. Express the following fractions as per cents : o ; 4
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1. Express the following per cents as decimals :
iy 9s% (i) 2le (i) 33%* (iv) 0.125% () u%g, (i) 27.8%
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4. Express the following decimals as per cents :
(i) 1.8 (iiy 0.004 (i) 0027 (iv) 1.06 (v) 0.0014 (i) 1.05
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5. Express the following per cents as ratios in simplest form :
(i) 45% Gi) TS% (i) 02%  (iv) 3%5, ) .5_1..‘, (vi) H%;
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6. Express the following ratios as per cents : |
fir1:4 (i) 2:7 Gy 118 (iv) 25:12 (V) 18:45 (vi) 5:4
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7. Find :

i) 10% of 18,000 (i) 4% of € $2 (i) 3%1. of 60 km
(iv) ;iw of 700 1 () 25%0f 1000 kg (v) 20% of 15 days
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8. What per cent of :
(i) 49 is 77 (i} 15 days is 6 hr? (iii) 45 km is 15 m?
(iv) 2 1 is 125 ml? (v) T 10 is 50 paise? (vi) 2 days is 12 min.?
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9. Find :

(1) 26.4 kg is what per cent of 220 kg?

(i) (HH%] m is what per cent of 1365 m?

(i) ¥4 is what per cent of € 2007
(iv) 45 marbles are what per cent of 150 marbles?
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